®OF &

T %4 W B N BEER MV s T
e T 3% ir K i T — T H2—8

T # FRIGHARE H 0 Rk 284F9 H30H £ T
Sl HEBEMAN L ol (B L odsd)

ERET IS AR T AR T




A N SRR ML s T T R AR R R AR
w & Bh 4 42,581,160 A
T 5 i #% 4 39,427,000 [T
THE DA L 48 4 3,154,160 [




& BiRNFREEEMIBETSE No. 1

£ h i3] £ | B il ] &
[ERCNEX - ¢
1| &%ETH 1 = 13,566,816
| B 1 = 2,863,722
0| Hhsakfl T35 1] X 13,404,490
HE T HEH 29,835,028
/\@%
I| FE k2 1] X 1,078,737
0| BlgEesy 1| = 4,793,348
M| —fE ey 1] K 3,720,680
ImE G 9,592,765
&t 39,427,793
XA AE (T k%) SREES 1Ll e 39,427,000
VH L B S5 FE X4 48 3,154,160
WA (ILEFEE) 42,581,160




& BiRNFREEEMIBETSE No. 2

2 FR ] = B 2 B B {f & % & %

I |[BEIE

1 [EE R L 1] K 522,653
2 PEESUE L= 1] =« 170,126
3 |EHEMETE 1 K 5,010,394
4 |NESUETLH 1 KX 6,183,510
5 |BEEdETLE 1 K 77,703
6 |MALE L 1 KX 147,918
T [ 1 K 1,454,512

&t 13,566,816




& BIRNFREEE M LBETS No. 2

% L i3] = ) = =-Riv B i & ] & =
I |BREBIE
1 |FEATER I T 1] = 900,760
2 |EAT oI ER A L 1 = 1,578,442
3 |=rbu MR T 1] =X 384,520
&t 2,863,722




A BENMNEBEEEE M LBETLSE No. 2
4 {71 i3] 2  HfI i ) fi&
I |#WEEETE
1 |faEess Bexin LF 1 ==® 5,610,840
2 |FA/KE AR L 1 = 2,350,220
3 |[HEAKER I T 1 ==® 4,697,430
4 |ETLE 1 = 746,000

o
au
+

13,404,490




